o2 5 x2 —y? = 2x + 2y 9] =9l ALY

® x-2 @ x+y

@ x+y+2 ® x-y+2



=5 add-a?>—a+19 Q157 otd A2 B5E 2 7felA] s
@ a?+1 © a®-1 © a+1

® a-1 @ a+1

® 1 7K @ 2 7K ® 3 7K @ 4 7K ® Aot



3. 6xy-8x-9y+12= (ax+b)(cy+d) N a+b+c+d 2 &
T-otH?

D1 @ 2 @0 @ -1 ® -2



4.

x?=2x-y* +2y £ ALt AHY
(x+ay)(x—by+c) 7t H AT o|tl a + b+ ¢ O] 27



o thAl o] QIR

Zro} 2t 2 &2 A
r+2xy+1y’—1
s
=(z+y+1)(x+ y—l)]

9

sl oA @, ©°f o188 &

Al
al

= H7]A]

(a1
H7]

7V a® 4 2ab + b? = (a + b)?

W) a® - b* = (a+b)(a-b)

) x2 + (a+b)x +ab = (x+a)(x +b)
2h)

(
(
(
(2h acx? + (ad + bc)x + bd = (ax + b)(cx + d)

© (7h, (h @ (4h), °h ® (7h, (h)

@ (o), (°h ©® (7h), (=h



6. H= deEsl AHolA ol 8 FAS B L2W? (Hha>0,6>0)

W4yl dy -1 =2 - (D2 -4y +1)=x>-(2y-1)?2 =
(x+2y-1)(x-2y+1)

@® a* +2ab + b* = (a+ b)?
@ a*-2ab+ b* = (a-b)?
® a?-b?>=(a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)



X2 —494+14y—y? ol x  AF7F1

7.

ol

® 2x

@ y+14

@ 2(x-y)

® x-y+2

@ 2x-2y-7



® x*+1



9. ¥ -9°+4x+12y 5 ASFESNGHH (Ax+ By) (Cx+ Dy +4) 7}
gty stttk A+ B+ C + D 9] S Fotodet

B
:



10. 4xy—2x-2y+1 2 ApEoMSHH (ax+b) (cy+d) D ™, a+b+c+d
o] gk& Fstd?

Do @ 2 @ 3 @ 4 ® 6



11.

x4 Ax® +4E R

F3telt. (2 a > 0)

A5 (ax? + b)? 0] Hcki

L Eiatb=

g, a+b =



12, ¥ -5 +49] 947} ohd A&

O x-1 @ x+2 @ x+1 @ x-2 ® x-4



13. 2+ 3xy—x-6y-2 5 A3l ot¥ (x - 2)(ax + by + ¢) ©|Th.
a+b+c o = Fstofet

agia—i—b—i—c:



14. ¥ -y -x+5y-6=A(x+y-3) ¢ ™, AE FoH?

O x+y+2 @ 3x-y+2 ® x-y+4

@ x-y+2 ® x-3y+2



15.

X2 =y +6x-2y+8 = AFE

a+b+c o g& Fstolet

agia—i—b—i—c:

9

SHH (ax+by+c)(x+y+4) € o,



16.

abc+ab+ac+a+bc+b+c+1

@ (a-1)(b-1)(c+1) @ (a+1)(b-1)(c-1)
® (a+1)(b+1)(c+1) @ (a-D)(b+1)(c-1)

® (a-1)(b-1)(c-1)




17. x*+4(a+b)x+ 3a® + 6ab + 3b* = A5-E3HSHH?

® (x+a+b)(x—a-b) @ (x+a+b)(x+2a+ 2b)
® (x+a+b)(x+2a+ 3b) @ (x+a+b)(x+ 3a+ 2b)

® (x+a+b)(x+3a+3b)



=

oo

T &4 g2 A2

X -x?4+2x-2=(x-1)(x* +2)
@ xy-x-y+l=(x-1)F-1)
® xy-2x+y-2=(x+1)(y-2)
@ Px+1) -4+ 1) =(x+1)(x+2)(x-2)

® ab+1)-(b+1)=(1~-a)(1+b)



19. -9 +y* +6xz- 2% & YFENSFATY (ay - 3x+2)(y + bx + c2)
7F =t o, 4 a, b, ¢ ol ot a+ b+ ¢ O] F& F5HH?

@1 @ 2 ® 3 @ -1 ® -2



20. 49x2 -9+ ldxy +y? & AFRAFFALY (ax+y+b)(ax + cy + 3)
7} =it olufl, A<= a, b, ¢ o TS5t a - b + ¢ 9] G2 F5HH?

© 2 @4 ® 6 @ 11 ® 16



21.

the-e x - 81yt & A48 @ Zolek. of wf, [ grol erur
AFi%e] G Foha?

-8yt = (2 +[_ P+ - b

® 13 @ 15 ® 18 @ 20 ® 24



22. CHRA] 4xt - 522 4 12 U] A9 QA Fog Q14 EajHct. |
Mol Q4o e

D 2x+1 @ 2x-1 ® 6x

@ 6x+1 ® 4x-2






@ x*-1 @ x*-1

D x-1

® x®-1

@ x5-1



25. x® +5xy+2x—-5y -3 = ALFE3|5H?

@ (x+1)(x+5y+3) @ (x-1)(x—5y+3)
® (x-1)(x+5y-3) @ (x-1)(x+5y+3)

® (x+1)(x=5y-3)



